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(1) meansg alerrssEpd sflwrg udleurdl o 6rersm 6T 6 LIS e 6

sflurrggls Camerere]b. &FsliLdledler Gapuil@mulber amms
sasrentiliurerflb o | anguwirgsd Csfelssea .

(2) Beowd Sidveg sy enwuliener I HCW er(WgiusHEGL LaTUOSS
Geuar(Hd. LILBISET cuepTeusH@GLD, iig&HCaTg(Heusn@n Cuersle
LW 6Tl (H S&6 LD-

: (1) Check the question paper for fairness of printing. If there is any

lack of fairness, inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw

diagrams.

L@ - I/PART - I
Slemensg| AleTEHERSEGD allen_eT&sea L. 15x1=15

Car@ssuul(perer wrHm elNewLseaflé® Wseybd eHLenL W
denLenws Casbos(Hs55 GHNULHLar e ulemaryd Cargg
CT(LpSEYLD.

Answer all the questions.

Choose the most appropriate answer from the given four alternatives
and write the option code and the corresponding answer.
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1. QuGLrOgaieiev (Pedogenesis) eramlgl erseL e GETLTLenL g ?

(=) 219f5 Qgrens (<=y,) Ggmeogyuilfl Liglod
(&) watr (rF) B

Pedogenesis refers to :

(a) Population (b) Fossils

(c) Soil (d) Water

2. OgrL&ss @Mlwer erarLg)

(1) AUG (<) UUU (@) UAG (rF) UGA
Initiation codon is :
(a) AUG (b) UUU (c) UAG (d) UGA

3. gmaulfland em @HublL @)L sl e seang Uanfluilener ClFwueuhiEEIn
GpBleoe Asr@iy :
(1) BlagCarpmd (<) el eumfLib
(&) =Wl () Qawe aumplid

A specific place in an ecosystem where an organism lives and performs its
function is :

(a) landscape (b). habitat
(c) biome (d) niche

4. @@ sTeursde wLrUmeITsEs NSsD emiE UamLamLw LnsGCsrHmsseaner
Cormmels@Cunwureanmed =g
(<=1) @ouanys sy (=) 9 sely
(@) sB88 aflSEsTLT e () CGergenend seLiL

The genotype of a plant showing the dominant phenotype can be determined

by :
(a) Dihybrid cross (b) Back cross
(c) Pedigree analysis (d) Test cross

5. urmppuflu ulirrells sreurs Corgevarsefles Gweare erengll
vwerL(hgselleoena ?

(<=1) safluder Herb (<=y) wefler epwallL b
(@) alengudlen eulgeld () eflengudler Bimid
Mendel in his classic experiments on pea plants, did not use :
(a) Pod length (b) Flowering position

(c) Seed shape (d) Seed colour
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QLostGrrFlwur Cury,flur e

(<) 2.udfl o yib (<=4) 214 L&850smeved
(@) 2uifl samears6ETaed (F) sevlp 2. 7ibd
Tephrosia purpurea is a :

(a) Bio-fertilizer (b) Bio-pesticide

(c) Bio-herbicide (d) Green manure

IUCN Seuliy Ul igid Sfeo@sene AFamsgIn Sndlarl uguie ‘C amss
GHIAGSng 2

(=) APl sTeurd sl Lsdem Sjemey OHMD 6ILpEFE]

(<) yeluled euany

(8) sTeurssl L Ib GmmSSHeD

(FF) erammanfldenasami L@GLLITLGY

IUCN red list categories has developed criteria for threatened species. This
criteria ‘C’ refers to :

(a) Small population size and decline

(b) Geographic range

(c) Population reduction

(d) Quantitative analysis

DNA gafler @L orpmid SmensE eremer LM ?

(<) @ewrL_Fme (<=,) SlevL e

(@) Grssmer (FF) grrerevCurgreT (@)L MHDS Fam))
DNA element with ability to change position is called

(a) Intron (b) Cistron

(c) Recon (d) Transposon

Fapm| : wepFer LCeum LhmCHTismer erdlisdlmg.

SMJEVILD : LOEHIFETID & T@GLOET eTeTD Ty A &HeCILewTL 2 Terg.

(=) SnpmI LOHMID SHMFeseTDd @Qream(Hn Seum.

(<) Fapml LOHMID Sryewid @QramHb Ff, Y aTTD SHTFERTD SN D
efersseflevana.

(@) sapm &, sMyewID Seum.

(FF)  &apmi LHMID Sryeserd @rent(Hibd &, CLogid SMewID Sanenn alleTs@GHng|.

Assertion (A) : Turmeric fights various kinds of cancer.

Reason (R) : Curcumin is an anti-oxidant present in turmeric.

(a) Both (A) and (R) are wrong.

(b) Both (A) and (R) are correct but (R) does not explain (A).

(c) (A) is correct but (R) is wrong.
(d) Both (A) and (R) are correct and (R) explains (A).
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10.

11.

12,

13.

14.

HlewT 261 L F5IEERssTar 2 U4l o rsHparear er(hsgssT (B

(<) Sjwreflm (<) v LTl en
(@) Fermavigifliguild (rF) Guélebevev

is an example for micronutrient Bio-fertilizer.
(a) Amanita (b) Aspergillus
(c) Clostridium (d) Bacillus

sreurmisaten eeflFCardmad@ WL HGWL LwaUHSSILGHD @Gilw qafl 6T :

(1) 3 - 10% (<=4)2-8% (@) 2-9% (rF) 2-10%
Solar energy used by green plants for photosynthesis is only :
(a) 3-10% b) 2-8% () 2-9% (d) 2-10%

Crmi erdliiiy greugmiser @aeummledlmbg o (HeurssLiLi(hdlemmer :
(1) yCrm CLmQerrs eueTiiiL] (<=),) oMy euemiLiLy

(@) Qge Wgenel eueTTLiL| (FF) A&5GSS& euermliL
Disease resistant plants are produced by :

(a) Protoplast culture (b)  Organ culture

(c) Cell suspension culture (d) © Meristem culture

EDSESETLeUDMIET 6Tl Ligld HLpHElwea ?

(=) seour HLPHS] (<) dBLIYeET SLPHS]
(@) sredlwubd &pnél (/) umrevLre SLPHS]
Which of the following is not a sedimentary cycle ?

(a) Sulphur cycle (b) Nitrogen cycle

(c) Calcium cycle (d) Phosphorous cycle

CWrGariigeller warbssgisailer erey

(<=1) 200 enw&GymSLL T (<=4) 10 eowsCrmSLi
(@) 2000 evw&CrmbLL i (/) 20 epwsCrmbl i
The size of pollen grain in Myosotis :

(a) 200 micrometer (b) 10 micrometer

(c) 2000 micrometer (d) 20 micrometer
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15. ergdliqud YCrmenw® erhg Ggmdloml u wpeanuled LwearLhdng ?
(=) urdlwCrev smgladls Csmrrellener
(<) g5itan nMlCwmLL AsmfleomL Liipenm
(@) <=sCrmev @po Wemermd Gl
() GeuevLirer emMGu@ ULy Qgmlem L Lipenn
In which technique Ethidium Bromide is used ?
(a) Polymerase Chain reaction
(b) Southern Blotting technique

(c) Agrose Gel Electrophoresis
(d) Western Blotting technique

U@&S - II/PART - II

GO : eTemeuCuienid oumi elaTésEnsE LMD ebenweafldEsea|b. eSlerm erer
24 -5 SL_Lmuwng alenwiefl&se|b. 6x2=12

Note : Answer any six of the following. Question number 24 is compulsory.

16. &yl LOHMLD 261(H(Hey euens LI L g Coumi(Déss.

Differentiate secretory and invasive tapetum.

17. ererGLrSelwid eremmmed ereren ?
What is endothelium ?

18. (Gl edlerm &y, uie|smer N W16 ClFlig saTLHbe meSlwucd oiblepraetlen
QUUITSENET 6T (LGS

Give the names of the scientists who rediscovered Mendelism.

19. TATA GuUepLp GTETMTED ETEITET ?
What is TATA box ?

20. gaoLsl (h (Crevféager) Cprdl eremmmed eremen ?

What are restriction enzymes ?
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21. P AEHGSSIH M6 GTEHTED 6TETET ?
Define totipotency.

22. Oeulil (HSSMDE| TGN ETETET ? ST CUMEHNETS GDILILA(HS.

What is thermal stratification ? Mention its types.

23. ,nmé Wrsll erlurpgl Crrrarenel. STIEUTD Jnmis.

Pyramid of energy is always upright. Give reasons.

24. UsmL G alleneTenel 2 Tl THEGW Walss CFLOUT(HEMET 6T (LpGIs.

Mention the human activities that lead to produce greenhouse effect.

L& - III/PART - III
SO : eTemeuCuienid gymi elaméaEndE LI edlenLwefldsea|b. eflem eretr
33 -5 SLLmuwns alen_wiefl&Esea|w. 6x3=18

Note : Answer any six of the following. Question number 33 is compulsory.

25. Gwewredler erip GCeumiil L LITLSHM6TE Snmis.

Name the seven contrasting traits of Mendel.

26. I Hs warislmublea GmsE deaulhs CaTHmsms LILID uamrhHgl

LITSBIGENET GMEHHLD.

Draw and label the T.S. of mature anther.

27. @QUliglILTSE Heel TG 6TETET ?

What is replication fork ?

28. cvenLipedlerT Gumanm HiaTamuiTEamer aueTTlILISH @, eraner ol LML semer
LweTU(hSGHeumis ?

What are the materials used to grow microorganism like Spirulina ?



https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m
https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m

7 4732

29. <G waT_ssler 2 HuSHmer Gmmalrs @) (mSELD. erem ?
Productivity of profundal zone will be low. Why ?

30. FFMISSNEG LUl L omb urduldpE o lull Aodlarmisamer
Coumiu(hs)5.

Distinguish between endangered and vulnerable species.

31. uulilr Qusssdlen GNECHTETEET WTenel ?
Write down the objectives of plant breeding.

32. @pHleaouilwd ugBlamser eamme erarer ? LOGaum @pblanaud i
g Blenev&Hena 6T (Lpgis.
What is ecological hierarchy ? Name the levels of ecological hierarchy.

33. 2L pae gmr GCoumur®), Gl L s B i Ceumum(p eremmTed eremer ?
What are somaclonal and gametoclonal variations ?

L@&3| - IV/PART - IV

GSNILIY : Semesisg efammés@rsEh edlenL warfldsa]b. 5x5=25

Note : Answer all the questions.

34. (&) sMmeynTssall aumTWN&ESa|D. ST (P& LSFHeusms LHH @Gl
UGN S.
S|6060F)
(<=,) euper B sreugmiseflen 2 edreranioliL| SHEUMDLILIFENET 6T(LHSIS.
(a) Define Parthenocarpy. Write a note on its significance.

OR
(b) Enumerate the anatomical adaptations of xerophytes.

35. (&) @mE wanssme T(HSHISST_(HLer afleuflsseab.
S|6V60F)
(<) Spsasar leurmisamersd Qasram® o@m Wrlll eeamrbg elersEs.
o uifenmisetlen crewrantlsens QET(HE&SLILL(HeTeng). LiHHS - SO, STeUrmhigeT
- 1000, (pwev omid 6redl - 250 + 250, LIMDL| LHMID eewrmen - 100 + 50.
(a) Describe the dominant epistasis with an example.
OR
(b) Draw a Pyramid from following details and explain in brief.

Quantities of organisms are given : Hawks-50, Plants-1000, Rabbit and
Mouse-250 +250, Pythons and Lizard-100+ 50 respectively.
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36.

37.

38.

(1) LIUEY EIEFLL LD ETETMTE 6Temen ? @QE60T LILIGTHENET 6T (LSS
360605

(<) & Pben ellenereyser wireneu ?

(a) What is gene mapping ? Write its uses.

OR
(b) What are the effects of deforestation ?

(=) 2ulilfl aulsSmssd erammmed eremenr ? 2 ulfl euPSHMHES Cgmde
B LSS DETaT T(HSHISSTL(H (.
S|60605)
(<) sevp 2 gsle unbl elemd@s.
(a) What is bioremediation ? Give some examples of bioremediation.
OR
(b) Explain Green manuring.

(31) 2emp@eilt urgsriy unml alleTsEs.
360605
(<=,) BleGauby, Sprpad], oL rhgra @eupiler CFLOTES APeLHHS
LHHID @EHSSIe (PEELSFIIEDS 5HS.
(a) Give an account on Cryopreservation.

OR

(b) Give an account of active principle and medicinal value of Nilavembu,
Keezhanelli and Adathodai plants.

-00o0-



https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m
https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m

